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Τελικά,  η εξίσωση   f(x) = 0  έχει ακριβώς δύο ρίζες. 

 

 

ΘΕΜΑ  4o   

α) 

 h΄(x) = −e
-x

 f(x) + e
-x

 f ΄(x) + 4e
-4x

  = e
-x

 (f ΄(x) −  f (x)) + 4e
-4x

 = 

                λόγω της υπόθεσης           =  e
-x

 (−4e
-3x

) + 4e
-4x

 =  

                                                          = −4e
-4x

 + 4e
-4x

 = 0  για κάθε x∈ℝ  

Άρα   h(x) = c  

 

 

x 0                
1

4
               + ∞ 

f ΄           −        0        + 

f                     | 



3 

 

 

β)  

h(x) = c    ⇔     e
-x

 f(x) −  e
-4x

 = c     (1) 

Για  x = 0,  η  (1)  δίνει     f(0) – 1= c    ⇔    2−1 = c    ⇔   c = 1 οπότε  

Η  (1)  γίνεται     e
-x

 f(x) −  e
-4x

 = 1  ⇔   f(x) −  e
-3x

 = e
x
    

                                                                 f(x) = e
-3x

 + e
x
    

                                                                 f(x) = 
3x

1

e
 + e

x
  

γ)  

Ι(x) = 
 x

 0
f (t)dt∫ = 

 x
t

3t 0

1
e dt

e

 
+ 

 
∫ = 

 x
t 3t

 0
(e e )dt−+∫ = 

                                                     = 

x

t 3t

0

1
e e

3

− 
−  

=  

                                                     = x 3x1
e e

3

− 
− 

 
 – 

1
1

3

 
− 

 
 =  

                                                     =
x 3x3e e 2

3

−− −
  

δ)  

2x

I(x)
lim

x→+∞
= 

x 3x

2x

3e e 2
lim

3x

−

→+∞

− −
 = 

 

 

+ ∞ 
 
+ ∞ 

 = 
x 3x

2x

(3e e 2)
lim

(3x )

−

→+∞

′− −

′
= 

                                                                  = 
x 3x

x

3e 3e
lim

6x

−

→+∞

+
= 

 

 

+ ∞ 
 
+ ∞ 

=  

                                                                  = 
x 3x

x

(3e 3e )
lim

(6x)

−

→+∞

′+

′
=  

                                                                  = 
x 3x

x

3e 9e
lim

6

−

→+∞

−
= + ∞ 

∗     Ισχύουν  x

x
lim e
→+∞

 = + ∞  ,    3x

3xx x

1
lim e lim

e

−

→+∞ →+∞
=  =

1

 

 
 
+ ∞ 

=  0 

 

 

 

 

 


